PLEASE ATTEMPT THE FOLLOWING PROBLEMS
WHILE I RETURN THIS MASSIVE PILE OF PAPERS.

A sample of tin(IV)phosphate was analyzed in a laboratory.

A) If the sample contained 2.541 grams of phosphorus, what was the mass of
the original sample of tin(IV)phosphate?

B) If one were to purify the tin from this sample, how many electrons would
have to be provided to the tin in order to return it to its elemental state?

C) If the oxygen was removed from this sample, how many molecules of
gasoline (octane, CgH1g) could be fully combusted with this oxygen?

D) In problem C, how many grams of carbon dioxide would result from this
combustion?
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